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SOCIAL SCIENCE
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Time:3HoursltMax'Marks:8O
ffitqr , (i) {fl swT-tt-, t gm 27 swdr srft * spard dt

Directions : There are in all27 questions in this question paper. All questions are

cornPulsory.
(ii) qPrt ig FrufRd 3i6 e-d6 sqqs sifta dt

Marks alloted to the questions are mentioned against them.
(iii) q-*tr eeE 6\ €anqtd-6 qfuA dqr trgftffi rfl fiful

Read each question canefully and answer to the point"

(iv) ssl rirmr r egkdrftq wt*t {s sqq b q-&6 w-s b rf,{ tiax frotq
ftfr {s dt Hfi fuo.fl srcrs ffi{gkror ti frRgE r s$T riqsr z t g ird FIfrrafl

s{erq ffiq frl
euestion No. 1 is multiple choice question. Four options are given in

answer of each part of this question. Write correct option ln your

answer book. Question No. 2 to 9 are definite answer type questio.ls.t

(v) qw HwT r0 *-19 d?F dq :RTftq ssq d, rdo tn-t JrK drTrrrr B0 ai-dt fr

ftBist
euestion No. 10 to 19 are short answer type questions, to be

answered in about 80 words each.
(vi) ,st d*, 20 * 26 nm ftd 3ilftq ss{ d, rd'6 6I FN drr+m 120 vrd ii

*frut
euestion No. 20 to 26 are long answer type questions, to be

answered in about 120 words each'""1 ffix:H:,f,:ffi:x
answer book.

tvrii) Fe ff-q{ C 1.m"r< ditg ko.dq q€it d?lfr dftrwq ssit ii 3rffidr tddH
qeiq B=rT rrqr *t t$ qr$i iib-rd w fo6ru 6'r fr JtT( frBsl
There is no overall choice ln this question papeL however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1 (6') mig d'qnFd' Tifril 1a04, d errq61* qq fus qrq t urqr HrHr d_

(i) frq*kdr (ii) fdrfrqqriBET
(iii) tRsfifur (iv) firffiqqrikdr
'The civir code of 1g04' of France is usuaily known as -

1

(q) rffi tar or q,q fff,r$u GffiEfi €e srgrq drfuH or EBwrq 6qt b dh{Tq E$- 1

(i) qrdrls (ii) trrrafHa (iii) BseE (iv) drdTdrsrkr{rcr
Name the reader who sacrificed his rife whi!e boycotting the simon
Commission -

(i) Rajguru (ii) Bhagat singh (i'i) sukhdev (iv) Lara Lajpat Rai
(rr) frEE ti3lrffim, qrr{* ol vgsena 6s t g$ _

(i) 192s (ii) 1930 (iii) 1931
When did the Great Depression begin in the World _
(i) teze (ii) 1s3o (iii) 1931

(q) frETftfsH d t ffi HEt r6d frErr fs m fu6* fu* -

(i) dldqgM (ii) tsfru
(iii) {ol+rq (iv) qrrot*
who among the foilowing deveroped the first printing press-

(i) The French Code

(iii) The paris Code

(i) Johann Gutenberg
(iii) New Common

(i) pfrrsx
(ii) qgdRur 3it{ $€rq H-6..* EldiBa 6Frr
(iii) framflqfudrnrqRq);rqlE
(iv) #o sil#rfudxur 3t{ qEfr6-{r

(ii) The Napoieonic Code
(iv) The Meralean Code

(iv) 1932

(iv) 1932

1

1

(ii) James Watt
(iv) Marconi

(s) t{$ t djlq S frquft erffdm ilir$qftrsm dr srFrsTt"r b ae 6.r rr& 6nq rs} *l
1
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Which of these statements is not a valid reason for the depletion of flora

and fauna?

(i) Agriculturalexpansion
(ii) Grazing and fuel wood collection
(iii) Large scale developmental projects
(iv) Rapid industrialisation and urbanisation

(a) da sr*m fus ror< 6T {HT€FT d - 1

(i) ;rft6{uT frro iiiy kr6 (iii) *E (iv) 3rrfiffipT dtrq
Which one of the following type of resource is iron ore -
(i) Renewable (ii) Flow (iii) Biotic (iv) t\on-renewable

(6) Frqftfun tit frH r& q< trrdx s{tfi der *n Wil d- 1

(i) 6rifrTfr (ii) prun;r& (iii) qd6r;r& (iv) sirgf,;r*
On which of the following rivers Sardar Sarovar Dam is built -
(i) River Kaveri (ii) River Krishna (iii) River Narmada (iv) River Satluj

(H) dqinrgd ta tiffifua fr t 6t{ Hr rrFfr qrqr ffiTr *? 1

(i) sfrfrfu (ii) qtfuq (iii) ?iRqq (iv) tbtrmr
Which one of the following minerals is contained in the Monazite Sand?
(i) Oil (ii) Uranium (iii) Thorium (iv) Coat

tTrrS?T €frurt,, S frrd* r{rEnil 6} 3rfqfrd qrqT 6-r ffif frvr rrqr 6? 1

How many languages are recognised as Scheduled Languages by the Indian
Constitution?

rfi sfu gsq b $IIFT 3TRr6rtt3ti 3{Eettfr frrdnT 6rt drfr qfu en} ror 66T CInf,r *?
1

What a person is called who believes in equal rights and opportunities for women
and men?

4. t{rrd b dr etfiq {rs',$frm edr a;r qrq ft{fuut
Write the name of two regional political parties of India.

s" 'rrr;rt[ fuo'rg ftqtC' 6t{ q-drrFkT 6-{dr t?
Who publisl"r the 'Human Development R.eport'?
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6. Wfir 6i 3rftr6R 3TRrfrqq mq ffiTsTr? 1

When was the Right to Information Act enacted?

7. <r$q w{ tr{'ilftia?q s{FrdT Fitr{'ig *$m dTrm?T atq sr *a 1

Which is the nodal ministry for 'nuclear disaster management' at the national

level?

B. LEr.rr{r.wT. orffiaqrqfrTfusl 1

Write the full name of ttl.S.S.

9. 'crtrrTil tDT qnffq'ftm vngq drcren ii eut o1ft'rror 8e 1

In which reign system, the 'Rule of l-aw' is seen?

10. Bh d qRnr o,rqrrdi t mni., $* cqtq\ qq 6rr& roiBul 3

Why did women workers in Britain attack the Spinning Jenny machines?

i.1. rSffiits& it rflra C qtq s{dr qq grq HttFfr 6'r oqr srfl( $Tr? 3

What were the effects of the spread of print culture for poor people in nineteenth

century India?

Lz. tr{ffir{ 6Ri frHFit b trd fr fus rru rienrrd strrc o.rffii 6'r Bdqs dfrur a

Mention the various institutional reform programrnes introduced by the
government in the interest of farmers.

13. qkd-f,{ E riqrc b er$q ffi er d *sr tsr ,rqr spf-qrsr dtffit;nd da g

Why are the means of transportation and communication called the lifelines of a

nation and its economy?

14. qdtefuilrftaarTsEu{Stsnrftbff{fr1)dotfut B

Distinguish between open unemployment and disguised unemployment.

ls. sq$rrT E{HT BTftrft{rq 1e86 b fuTtrr fi 'src-{d mri u.&e S

What is the rationale behind the enactment of Consumer Protection Act 1985?

16. EqrE-HT6) m} qfrfrRrd rilo-otko rrr6m b orq-osi-a d ffi ffiqt{fr et& *l B

How the activities of pressure groups are useful in the functioning of a democratic

government?
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!7 . rirffirir fuq qftRrfrrri it smrh6 Eft€rdr dr ri'+lffir t fr rt'o fts qrtrs dor+r ta
3

what are the conditions under which democracies accommodate social

diversities?

18. flrmnitb d<rq ffio, €uK sunftFit fr mr 3qdllflar t?

Whatistheutilityofalternatecommunicationsystemsduringdisasters?

3[erdl/oR

splfrm rqEIK t mr 3IFIqro ta rsb 5ta stra ffir d?

WhatismeantbyFirstAid?Whatareitsmainaims?

1e. tlsffi e ftTE kIfu 6T.di o.r sds dffi t

Mention the factors responsible for landslides'

zo. sqi qrmq Ere eHiii qrsqqrer ol srer gsm dq-t b Au +fiftrtrq t m iffifld
c-^ 4
tou /
what changes did Napoleon introduce to make the administrative system more

efficient in the territories ruled by him?

2L' Trk{q 3mrf,T 3il<tf,{' 6T 6l"d6q trc[r ?IT? grr€n$ul

What was the programme of 'Civil Disobedience Movement'? Explain

3mlil/OR

FIH q{ df}ilH ftEuft ftilRrS -

Write short notes on following -

(ffi) {rc ror (s) sr{F{6mqa

The Rowlatt Act The Simon Commission

22. {TsrenjT b ar*f-sJw cHt t qqf ilf, €qaor furs ror< fuqr srdr ta qrsr frfrst 4

Discuss how rainwater harvesting in semi-arid regions of Rajasthan is carried

out.

geltlr/oR

T$rii gKT qqb<q fiCro-rq dr o-rr 6{t b ftte rdru rrs ftFffi JqEii & qrt tt qarE}t

Describe the steps to be taken to minimise environmental degradation by

Industries.
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23. qrRrq b €sq sf< rorsm Esdt c aqr-am'sq 3i?K *a rcr*o; b qpsq fr *oqdtssr
4what is the main difference between a federal form of government and a unitary

one? Explain with an exampte"

3fi',erqr/oR

rflT#q $arf q sf,r 61lM 6r u.F rffifiuTt& gu sffir m gfrFr{6 3f{ Er6 +h6
6RurrolFst

state one prudential reason and one moral reason for power sharing with an
example from the Indian context.

24. HIfiTBE fulT3lqfus rnat rrs6p d ntnpomqt da d ureqq ffirsr 4
How do sociar divisions affect pofitics? Give two exampres.

2s. fu6rs ii z.r a1 TF6T or Mwr dfrer 
4

Analyse the role of Credit for development.

3[erqr79*

gtr' 3fl?rq{kffiEiib ffi ridf{r d uqsl o} fuH ilr6 g-dflr& ta rcr-r*or toq srgrssr
How does money solve the problem of double coincidence of wants? Explain
with an example.

26. qrqK 3ilr trdvr +frdi 6r rfffr*-{uT ffiffeT eBqr C #t vdrqdr q&mTr t? 4
How has liberalisation of trade and investment poticies helped the globalisation

.process?

27 . (3T) fre rru trrw b rril+FrcF fur qiqftr o-{ sq dI ** b qrq frfus, rd H=fiofuoqriTE 
E$ -

(6) si$ ?Trn

(qq) dt dn 6i-s 1

1(A) on the given political outline map of India, rocate and label two states
where the following incidents happened_
(a) Dandi March

(b) Chauri Chaura trncident
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(q) fr-e rd r+ra b FS qn-{fu{ q{ €axil d s6r+dr t Frrqft{Rsn dI ftlfsE sik F
efidib qrq fi ftTRsE netT qrqfu{ o1 erq+ ra'< gkd'r d riffiq aiftils -

(TT) ffird-63ffi{6qalqEfu6* 1

(u) ffiddtnqteXln'at 1

(F) r.x-aftrur rrfrT'qrt o'r rd dx C k€ t 1

(a) qmtiTmil sgfr .r+q A fu€ t 1

(B) On the Same given political map of India, locate and label the following

piaces with symbols as marked against each and attach the map to your

answer book -

(c) Bailadila iron mine with the sign I
(d) Ankaleshwar oil field with the sign ffi
(e) North terminal of North-south corridor with the sign c
(f) Marrnagao seaport with the sign A

qta , ffifu6 sq{ e;.rd Efrdq qSeTrRHt + frs sfi drsqI zz b em q{ *'
Note : The following question is for the Blind candidates only in lieu of

question number 271

(3{) s{ {rfrItb =nq ft{Rqs, ;rd Frqftfuo qil{ru uftH 6$"

(6) ffi uiar 1

(s) qtft dkr 6is 1

(A) Write the name of the states where the following events happened-

(a) Dandi March

(b) Chauri Chaura incident

(q) rq {rsq} b qrq ftTfuu, 5rd Frqftfua ful-d f;-

(n) ffif,r da er+w saF{ 1

(u) 3ffiTfl tn et{ 1

(s) rtr{-GfeTur rrft!-qTt 6l5rfr dR 1

(u) qrqflTuilvsftwm 1

(B) Write the name of states where the following are situated-

(c) Bailadila iron mine

(d) Ankaleshwar oil field

(e) North terminal of North-South Corridor

(f) Marmagao seaport 
x ,< * * *
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